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GENERAL INSTRUCTIONS TO THE EXAMINEES :

(1) ufemeff geyem 379 J9-3 T ATk JTfaria: fog |

Candidate must write first his / her Roll No. on the question paper

compulsorily.

2) Tt 9 e FHEr |

All the questions are compulsory.
(3) T I T IR & T8 I -Yfaeht # & ford |

Write the answer to each question in the given answer-book only.
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(4) T WAl o ATk @ue g, 37 9l o 3T T 11 g o |

For questions having more than one part, the answers to those parts are to
be written together in continuity.

(5) Y- & gt 9 S wuTaR § fopelt wepr Y Ffe/ 3T/ fatienyma g1 W
Te=Gt T o e I &1 HE1 A |
If there is any error / difference / contradiction in Hindi & English

versions of the question paper, the question of Hindi version should be
treated valid.

(6) T HEM 3 I I IR I e HimT
1-10 1 20 Ieq
11-19 2 40 Msq
20-26 4 100 3Msg
27,29 6 150 3¢
28 7 150 s

Q. Nos. Marks per question Word limit of

answer
1-10 1 20 words
11-19 2 40 words
20-26 4 100 words
27,29 6 150 words
28 7 150 words

(7) I TEAT 30 T i | Tafeyd 8 375 3 1 8 |

Question No. 30 is related to map-work carrying 5 marks.

(8) I WA 24 9 27 ¥ 29 dh T 3Taleh faehed £ |

There are internal choices in Question Nos. 24 and 27 to 29.
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11.

12.

3

‘ST Mo ST THEeh hid AT 7
Who was the author of ‘Abhigyan Shakuntalam’ ?

oI g J=ford <kl T8 “qrene qer’ &= eft ?
What was the ‘Paibos practice’ started by Balban ?

GRS Slehasl’ & 39T 9T AT & ?

What do you mean by ‘Social Democracy’ ?

2011 3l STTUMT 3 STTAR WRA hi G g G T ff ?

What was India’s decadal growth rate as per 2011 census ?

TSR 31 i & gom g B 9 7

Who was the first chairman of National Income Committee ?

T | 37T ST &1 IS Ueh 3899 waTsy |

State any one object of economic planning in India.

Y TF I3ITeH fh &9 § el B 7

Agriculture and animal husbandry are related to which sector ?

AnTa St ggT-Thifa ford wad 8 7

What is cost driven inflation ?

TTUE T I TRATI SHITT |

Define the relative poverty.

dehriloh] SUSTTTI RIT 2 ?

What is technical unemployment ?

39 TITA o &Y H e aftwg & foh Teet o1 a6 ?

As a governor which members will you nominate in the Legislative Council ?

SEEFT R ?
What is “Johad” ?
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14.

15.

16.

17.

18.

19.

20.

21.

22.

4

STATERT HUTE 1 IR § Fohg A0 & ITHT SITAT 7 WRA H 36 IS ¢ TgE@ 3cdTeeh

TS o AW Tt | Vit Vit Vot V=2
By which name is American cotton known in India ? Write the names of two
states in India where it is produced.

AT o1 AT o —Tora 32 8 fepam Sira1 8 7 (618 = 9M) Vit Y+ Yo+ 1%=2

Which industries use copper ? Write any four names.

“TSEA 3N ®9 8 YA & 31 U1 9 fUser TS 2 |7 SIS € R0 WS
HfT | 1+1=2

“Rajasthan is an industrially backward state as compare to other states of
India.” Explain any two reasons.

TR H SRS Jig & HRI1-F THE TR ST 8 @l @ 7 (PEAR) Yo+ Y%+ Y%+ Y% =2
What are the major problems arising due to population growth in India ?
(any four)

fepgl &1 T STetmmTt sht same HfT | 1+1=2

Describe any two National Waterways.

rstieh TiEg & TR 3T % TIchTe 7 IS ol J2md St | 1+1=2

Give two suggestions to encourage maximum use of public transport.

3Tk STTAR TTe5dT UL ST T Il 3T & 7 hIg &l SHRUT STy | 2
Why is it essential to give attention towards cleanliness ? Give any two reasons.

Hi-TSh o ITHFRTA bl Tehral TR TTbg TEIAT i Iooid HifTT | 1x4=4

Mention any four famous events of the reign of Kanishka.

TATE SR T SMTEhTe foh ISRl & foru ufag & 7 1x4=4

For which achievements is Swai Jaisingh’s reign famous ?

SN shifd Ha8 gt $o1vg H € 1 g5 7 <his IR HHoT fofan | 1x4=4

Why did the industrial revolution first take place in England ? Write any four
reasons.
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23. CAlehdIzIeh IMHF o 1 TehT 9T 3791 A T8 Shifou 2+2=4
() A Al
(i) AT AT
Explain your views on the following kinds of democratic government :

(1) Direct democracy
(11) Indirect democracy

24, WA STIeHaEdT | ST i §9Ese | 4
XUE]
YR § TRl <l STEYRTM I FHesy |
Explain privatization in Indian Economy.

OR
Explain the concept of ‘Swadesi’ in India.

25. T GEIA] 9Hg <hl HRIYUITE! i THEATST | 4
Explain the working system of Self Help Group.

26. FIHAT I SATUHR AU, 2005 6 T&A ST HH-HIH § SUHX I & 7 Teheal

TR T Iooig hITT | 1x4=4
What rights do you have under the Right to Information Act, 2005 ? Describe any
four.
27. IATA-HUST H¥ W Teh e foafam | 6
AYaT
frfafaa 4 @ ferel i w wferm feoroft fafaw 2+2+2=6

(i) = e

(i) &% fopam aTgeH

(iil) WTd TSI

(iv) @el foram et

Write an essay on the Anglo-Maratha struggle.
OR

Write a brief note on any three of the following :

(1) Neemuchana Massacre

(1) Barad peasant movement

(111) Bhagat movement

(iv) Kheda peasant movement
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28. T o Usgafd § gt e formgati w1 s hifg - 7
(37) Trsgufel s Feter
() Tgufa shr aeegfa i wfsha
YT

Ak AT § FFT=a -1 Teig3Ti ol AU hITT -
(37) Y= §&=&AT 9 IrIai
(F) s 9T 318 o 1Y Td Afeqal
Describe the following points related to the President of India :
(A) Election of the President
(B) Removal process of the President
OR
Describe the following points related to the Lok-Sabha :

(A) Number of members and qualifications
(B) Powers and Functions of the Speaker of Lok-Sabha.

29. TS faum-aw i wifeadi Ta Sl o foe=r i | 6
JAYET
Ty faam-uitye i wifgal ta i <t fea=mn Hifs |
Explain the powers and functions of the State Legislative Assembly.

OR
Explain the powers and functions of the State Legislative Council.

30. feu e vyrd & @ At § f=faRad =i stfed hifse 5x1=5
(A) TGS AT TR
(B) <ol BHA &
(C) wee
(D) TSThaTT
(E) HmITE
Mark the following in the given outline map of India :
(A) Bhakra Nangal Project
(B) Rice cropped area
(C) Khetri
(D) Raurkela
(E) Marmagao
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